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(a) T (b) 5 (c) g (d) 3

I T, g H form yeR & e 1 gfafifus s 2

The above symbol represents which type of projection in drawing?

(a) w&Een &I /1% angle (b) wEu O /2™ angle
(c) tEw i /3% angle (d) =t = /4" angle
afegn # DC Wz Nerfid Fiaee 71 87

What is DC straight polarity connection in welding?

(a) ToiEEis EHWHS & AR T FiF TFoH® 2 / Electrode is positive and work piece is negative
(b) sEFIS 3T 9% I T=EAS 2 / Electrode and work piece are negative

(c) 3oiFgis 3R g% ft @& & / Electrode and work piece are positive

(d) ISFRIE TS & 3 9% fim gFwws € / Electrode is negative and workpiece is positive

- /JTLA

S feard w3l ‘AT R

The distance A’ shown above is

(a) ®2 M9 /root gap (b) ®2 %" /root face
(c) 3mh 7T /arc gap (d) &= ®/ bevel angle

afegn gt T afeen & forw 2gm & 9r 3in seiegis 1 wenfe ®9 8 gumE S 8, FEan &

The welding technique in which the electrode is rotated automatically around a tube for welding'is
known as

(a) wifed &andsh / Pulsed TIG (b) H-Brer famsstt / Keyhole TIG
(c) hefra st / Orbital TIG (d) @ A3 [ Activated TIG
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10.

1.

Fqr fygag A %wwﬁtﬁu&mﬁmmg@m%t

Copper alloys are difficult to be resistance welded because of its

(a) v fegd =erar /high electrical conductivity
(b) F= A =ATTRA / high thermal conductivity
(©) (a)3f (b) 3t /Both (a) & (b)

(@) o ferega =rersan / low clectrical conductivity

e &t 7S 2|
Radian is a unit of
(a) ferega i / Electric energy (b) Tafron &t 7T / Amount of radiation
(c) T / Angle (d) i i / Angular speed
Weld
o
wns ‘A FHaeml ¢ |

The length ‘A’ is called as

(a) Theete 9e8 # oz [ throat of the fillet weld

(b) feeeie deg 1 FE /oot of the fillet weld

(c) fheete dee #l S 3R | leg size of the fillet weld

(d) Feeere A8 1 ggarne / reinforcement of the fillet weld

ﬁﬂ%ﬁaﬂﬁﬁmmﬁaﬁﬁﬂﬂﬁmdﬂﬁtﬂm%?

Which of the following is a titanium stabilized stainless steel?

(a) 304 (b) 304L (c) 347 d) 321
%@ﬁ@m@wmﬁmm%mm(ﬁz} B 2
A backing strip is used in welding when the joint

(a) ® e / is not clean

(b) v %2 HTEE @ G T [ is not accessible from root side

(c) Tgd 8 T FEi / is not preheated

(d) femré 7% 2 @ / is not visible

i 7 @ 2 T 0 P g S 27

Which of the following is a low hydrogen electrode?

(a) EG6O13 ; (b) E6010

(c) E7018 @ @ 3f () 2l / Both (2) and (c)

4
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12.

13.

14.

15.

16.

17.

18.

19.

Frffia 1 @ frg g § wad sfus o 2 27
Which of the following metals has the highest density?

(a) HM /Gold (b)y @@ /Iron

(c) vegHitEm / Aluminium (d) @2 /Lead

anfifeq g faeter ¥ wieiiw T s =ifan

Compressed gas cylinders must be stored in

(a) ot feaf [ slanting position (by &fa= feufa / horizontal position
(c) o1 B3 ¥M / tilted position (d)  wwuge f@afd / upright position

fyrffiaa #f & F Fo1 W H FHL A 87

Which of the following is not a type of cast iron?

(a) ®%e /white (b) 7T (W) /wrought
(c) o /grey (d) TeER / nodular

sreetin sfean #, woa g1 faed =1 @ a2,

In soldering process, the filler metal melting temperature is,
(a) 450°C & 31f / greater than 450°C

(b) 450°C & %M /less than 450°C

(c) 700°C & afrh / greater than 700°C

(d) 600°C & frh / greater than 600°C

SAW mﬁmwmmaﬁqmaﬁac—ﬁmﬁﬁﬁm%
The type of flux used in SAW process which absorbs moisture quickly is

(a) wfera wamE / fused flux (b) @23 wETE /bonded flux
(¢) W W& /heated flux (d) wEErEeEd [ hydro flux

af A+B=293M AxB=120%, @ A M BT
IfA+B=29and A x B=120, then A and B are

(a) 14315 /14and 15 (b) 13316 /13 and 16
() 12317 /12and 17 (d) 2435 /24and5

HTE‘l’ﬁgﬁm%,‘wwﬁlﬁﬂ%ﬁﬂ‘t‘ﬁmmﬁwﬁ:%,a’mﬁrﬁum%ﬁmmm%

CIf°T" is current, ‘R’ is resistance and ‘t’ is duration of current, then heat generated due to resistance

heating is given by
(a) IR% ® IR (¢) Rt & REI

frffiaa #§ @ fr gEn Wi &1 SR 999 =30 27
Which of the following drawing sheets has the largest size?

(@ A0 - (b) Al © A2 (d A3
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20.

21.

22.

24.

Byfafaa 1 8§ = drem afeen afen @ 27

Which of the following is not a fusion welding process?
(a) ezt afeEn [ ultrasonic welding

(b) 3oL aAfeeT / electroslag welding

(c) veTsHT 37 dfeen / plasma arc welding

(d) amedt-ufafeefa afegm / oxy-acetylene welding

frfafiaa 4 & #9 atwh-fufdm afeen =1 3Ham 272

Which of the following is a disadvantage of oxy-acetylene welding?
(a) =1 afcen 1 1fd / low welding speed

(b) &2 @9 Wl &7 / large heat affected zone

(c) (a) 3 (b) 3T / both (a) and (b)
(d) el =l des ®d Hi IS / inability to weld thin sheets

frffia o & frg die 3, §9 e @ a9 FEA@O g 27

In which of the following modes, heat transfer occurs by direct contact?

(a) E98d /convection (b) =M@ [ conduction

©) fafertor / radiation (d) 374w & A FIE 78 / none of the above
GTAW ufsan 4, w waTed B9 W e dee vy fiear 21

In GTAW process, maximum weld penetration is obtained when operated in

(a) DCENHE /DCEN mode (b) DCEP g / DCEP mode

(c) ACTHE / AC mode d) (a) 3 (b) B

FaH TIG 1 qor & Prefafiaa & # @ wifeg TIG afeen wfem =1 @ 27

Which of the following is an advantage of pulsed TIG welding process when compared to
conventional TIG?

(a) =AW A9 SYE o AU AN 9g¥H / Minimum penetration with minimum heat input

(b) AR A9 §992 % |y FHfUsan I / Maximum penetration with minimum heat input
(c) ifehan a9 3992 % @1y ifueed T3¢9 / Maximum penetration with maximum heat input
(d) AfYeran @9 YL & WY AN 29+ / Minimum penetration with maximum heat input

6 707 TE(W)



25,

26.

27.

28.

29.

30.

Il Al # gl A 2l

Distance ‘A’ indicated in the above figure is
(a) dvsHiE ¥e / Weld bead throat (b) e 3429 / Weld penetration
(c) Fe= & [ Weld toe (d) %= ggdl= / Weld reinforcement

afeen ufmn ot afcen & fou -8 7o+ =1 39 ot 2

Welding process which uses keyhole technique for welding is

(a) SMAW (b) LBW
(c) EBW (d)  (b) 3 (c) G

afe w fr-+ite west | 30% ofte 3 70% o €1 8, @ 38 = = 3§ enfar s

If a tin-lead solder contains 30% lead and 70% tin, then it is denoted as:

(a) 30-70 Hiw=t /30-70 solder (b)  70-30 |e=t / 70-30 solder
(c) 30-30Fe=t /30-30 solder (d) 70-70 "e=t / 70-70 solder
uTg 99 qEN yaf % 49 o % F0 g 2|

Metal fume fever is caused by inhaling fumes of
(a) €EgeM ®Es8 / Hydrogen compounds
(b) AftviEm Fmr3-ed / Magnesium compounds
(c) Tk ®mE=d / Zinc compounds

(d) %@ #9324 / nickel compounds

EBW ufsan #, zogia #in ¥zl a1 £
In EBW process, electron beams are emitted from

(a) TUAE /Anode (b) Fis /Cathode
(c) IHEM F5e / Focusing coil (d) fafa (3=8) / Vacuum

i 8 SMAW sei2is & aifiuss afeT 3 gfommeasy &l 2

Over baking of SMAW electrode in oven results in

(a) soEgIE &1 e / melting of electrode

(b) 3E=IE 1 FH1 / bending of electrode
(c) =t f9=-319 / moisture pick up
(d) veTeE FaftT § 3 FH / deterioration of flux covering

7 : 707 TE(W)



31.

32.

33.

34.

35.

36.

37.

e ¥ aftadd % e Rt vl g S Y WIE R A SiE HEAT B
Heat gained or released by a substance during a change of state is called

(a) Tafse @ /specific heat (b) #f&=er a9 / sensible heat

(c) “heAiiaiher a9 / calorific heat (d) 7= @9/ latent heat

e ¥ ae ©F de WIS W HGRTE FHE W | T G B FE B ?

Residual stress will be developed on a weld joint after welding. How will you remove the stresses?
(a) NDT 9o g /by NDT test (b)  F=HtE I991 g0 / by heat treatment

(c) @ giteer R / by tensile test (d) 1@ =nfeen g / by sand blasting

frrfrfiga & ST ST TRTe daa wE el ga w1 e FE 87
Which of the following tungsten electrodes produce radioactive dust while grinding?

(a) uftees = e / Ceriated tungsten electrode

(b) @ueg ded sewIS / Lanthanated tungsten electrode
(c) Hifards dme geiders / Thoriated tungsten electrode

(d) Torerifieds Tmea 9218 / Zirconiated tungsten electrode

Afeen awies o AfeEn ¥ dhm o w1 i 3ffed g & it 3R dige e s @

Welding technique in which the arc is pointed towards the unwelded joint area during welding is

(a) wREs dfeen / forehand welding (b) @Es afcen / backhand welding
(c) WGz & afeen / front hand welding (d) 39w # & % 7 / none of the above
stadtefafeeia afeen #, wea #1 3w ¥ forg foman o 21

In oxyacetylene welding, flux is used to
(a) @M ¥e1 F / produce heat

(b) e uTg F L-ATwAF FH [ de-oxidize weld metal
(c) T fheeit a1 / clean filler wire
(d) i %5 FH / reduce heat

TIG 3feEn % drm Iwdim fhu ST arel ST 3oideTe w1 = 1 fufe Fu 9T o e R
The diameter of tungsten electrode to be used during TIG welding is selected based on

(a) afeEn dieear / welding voltage (b) afeen am / welding current

(c) afeem nfd / welding speed (d) =it %1 =AM / nozzle diameter

mqmwﬁaaﬁméﬁshfﬁﬁﬁﬁ i e i gern A 2 @ 3 AT At ot it stavasa B
I

Helium shielding gas requires 2 to 3 times higher rates than argon gas in similar welding conditions
(a) #iferw mfa i g #§ Wit 4 ] / Helium is heavier gas than argon

(b) #ferm i i gen & g 19 2 / Helium is lighter gas than argon

(c) #iferm 3w it gen # %9 a9 g1 Hlt 8 / Helium produces less heat than argon

(d) diferam i it gon § 3t am & %ar 8 / Helium produces more heat than argon

g8 707 TE(W)



38.

39.

40.

41.

42.

43.

44.

T deg § Afafish Tiawar F Gien F A 3w s aweh i 2

The technique used to find the internal discontinuity in a weld is
(a) TFA-1dHA% / X-Ray technique

(b) regmfis q@1 / Ultrasonic technique

(c) (a) 3 (b) & / Both (a) and (b)

(d) ==y &0 Bt / Magnetic particle inspection

SMAW wfskan #, T =i g2t & fore 3uam fisar S T usr 2

In SMAW process, the tool to be used to remove slag is

(a) BEr /hammer (by &t /chisel
(c) T&a geten / chipping hammer (d) =ifora g#=l/ angle grinder

afeen =0 oy o5 T F #92 sfus Fam &7
Which type of clothing is more preferable while welding?

(a) 9 /cotton (b) “ESH /nylon
(c) wifeuE=R / polyester (d) FHi /woolen
% 1 30% 2

30% of il is
9

1 3 10 1

2. bl s d i
(a) 5 (b) 0 (c) 3 (d) 3
yfife aftgz ufsen #, aften & fom smavas am &1 3w d B 2|
In thermit welding process, the heat required for welding is produced by
(a) afeem 31k / welding arc (b) =d / friction
(c) vEmfas wfafmar / chemical reaction (d) (a) 3 (c)gmi
T |, desAEar o ffr

In steels, weldability will depend on its

(a) e §9eT B / carbon equivalent value
(b) & ¥Hed WH / iron equivalent value

(c) HEHL HAGET HH / sulphur equivalent value
(d) %I GHGed "I / steel equivalent value

GMAW gfe=n # v Frfafas afwem A6l 4 § = @ st o § foaua te w27
Which of the following shielding gases used in GMAW process causes high amount of spatter?

(a) @ /argon (b) @A TEIATEREE / carbon dioxide
(c) #ifeEm / helium - (d) AT / nitrogen

9 707 TE(W)



46.

47.

49.

50.

51.

52.

=y 3t g fRuf 4 afegn & R Frefefiaa § & == & afeen ofe 98 sz 2?

Which of the following welding process is most preferable for welding in wind and draft condition?

(a) GTAW (b) GMAW (c) EBW (d) SMAW
ASME &1z % 37961, 74 de % fou v saiar wiamn Rafa =1 =a o 2

As per ASME code, a vertical test position for groove weld is called as
(a) 3F f&afa /3F position (by 3G T /3G position
(¢) 6G Tt /6G position (d)  5F f&ufa / 5F position

TS 3 AfeET # uw uEwe I @ 2y

What is a “pilot arc’ in plasma arc welding?

(a) TATSHT W B & fofw W 3 / arc used to focus the plasma

(b) HET 3 F UE F % {0 WYH 37 / arc used to start the main arc
(¢) o W FI 90 F4 & 70 99w 3 [ arc used to heat the work piece
(d) wATF 309 H o foT W 3% / arc used to generate plasma

Ta O e & fou a=ran it e | 2

Tensile test is done to find out

(a) g w3IAAT / Hardness of the joint

(b) g it WA / Strength of the joint

(¢) g =i @=g H3ATET / Impact toughness of the joint
(d) ¥ @ =g 78 / none of these

AfcEn ufrar fraer Ivam Fato Ry 3 91 <2 =i afcen =60+ o s 2
Welding process that is used for welding thick plates in vertical position is

(a) GTAW (b) SMAW _

(c) GMAW (d) geRrET afeen / Electroslag welding
wifed GTAW ufsan # Iwin fbu oA aret frerer am =t wed &1
The lower current used in pulsed GTAW process is known as

(a) @FUEE 9T / Background current (b) @®379 U / Back up current
(c) Ui 9T / peak current (d) 9eH 9 / pulse current
forelt grgn # a5 & g ge R = T g S 2

Hidden edges of an object is represented in a drawing by

(a) Hd W@ / bold line (b) &weh! t@1 / faint line

(c) Tre @ / grid line (d) 2%2 @ / dashed line

0.lcm % HteX H ————— WM 2|

0.1cm is ———— of a meter

(a) ©&ET /hundredth (b) ®AWET /thousandth

(c) TH TAT /ten times ' (d) e&al [ tenth

10 707 TE(W)



53.

54.

35.

56.

57.

AfeEn s g Il UV Bt — Se R % forn ammae & aarEn § Iufen
et % T ufafen s 2 -

UV rays emitted by welding arc reacts with oxygen in the surrounding atmosphere to produce:
(a) e 2r33TEETEE / Carbon dioxide (b) M HHEETES [ Carbon monoxide

(c) =erEmd / Water vapour (d) A [ Ozone

Joz sftg it Tl o T o felm 2

A depression formed at the termination of the weld bead is

(a) HUAT / porosity (b) =T F2 /under cut

(c) ket /crater (d) we=w &t Ft / lack of penetration

EBW ufskan &1 @y 2

Advantage of EBW process is

(a) o1 3992 ofe s wars atfiss 2t 2 / Heat input per unit length is high
(b) fasrelt &1 @96 #1 2 / Power density is low

(c) Ushel U H WA i I=4 &S / high depth of penetration in single pass
(d) (a)3M (c) Gl /both (a) and ()

F1d4 3earq H Prefafiaa ded 4 4 G ga8 sifys fdie i smavasa & 27
Which of the following thickness of carbon steel needs highest preheat?

(a) 20 mm (b) 40 mm (c) 65mm (d) 50 mm
AWS & FFaR Afcen wdts W FIT g 74 3fr sheaT 8

As per AWS, a welding symbol as denoted above indicates

(a) TUHe =ad ARl &1 Jd 9e8 / groove weld of single bevel preparation
(b) Tieie 3 / fillet weld

(c) wie awE /spot weld

(d) uFHA V- J9il *1 g9 958 / groove weld of single V- preparation

fm AT s s A s
A weld bead deposited without weaving is
(a) @@t 2 /wider bead (b) &< e /root bead
(¢) difém #fig / weaving bead (d)y fem iz /stringer bead

11 707 TE(W)



60.

61.

62.

- 63.

Wmﬁwﬁmﬁ%%ﬂ,q@ﬁﬁmﬂmm&%ﬁﬁ%ﬁﬁmmél

77 gafaT #ih
To reduce welding amperage required, aluminum is usually preheated before welding.
This is because

(a) UegHiEm # g qriE Sl % / aluminium has high thermal conductivity
(b) veHiEE | 3= e 2ta1 2 / aluminium has high melting point

(c) Ui & FI HAEEES T 3 / aluminium has oxide layer over it

(d) e fan 01 &1 vafed 2 / aluminium has tendency to expand

znﬂgm?ﬁsﬁmﬁmGMﬁwmﬁmmaﬁmwﬁmmﬁ@%
The minimum filter glass shade to be used in GMAW process while welding at 200A is

(a) 10 by 9 (c) 8 (d) 7

mmm%%hmwhwﬁa&ﬁﬁmmﬁ%aﬁqm@%
Which of the following is true regarding plasma arc welding process (PAW)

(a) PAW &l il T GTAW wfman $1 g # 4 28
Energy density of PAW is lower than GTAW process
(b) Pawmmmm%m-mm%mmﬁmwﬁ%
PAW process uses a plasma gas as well as shielding gas
(c) Pawmﬁ,mﬁgam-mmwﬁﬂfﬁ%
In PAW process, plasma is not produced by electric arc
(d wHREA
All of these

it s T Afeen wft g Hit el 5" e il

Welding in confined place shall be started only when the place

(a) oredl @ TIEH 2 st v % Fore gefiae wht e fen R
s well ventilated and tested to be safe for entry

(b) FifdeH @ W 2 /is filled with oxygen

(c) afeen & foe 70 7@ & @2 2 /is completely closed for welding

(d) fifeEn fra @ wa R/ is filled with shielding gas

Ive = H £ st F 3 forg s e S 2
A weld gauge can be used to check

(a) Trge dee & om 1 TN /leg size of a fillet weld

(b) A 1 i /lack of fusion

(c) dIietHe &8 / depth of undercut

@ (a) 30 (c) 3 / both (a) and (¢)

12
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64.

65.

66.

67.

68.

69.

fireret 50 ez g $ w0 @ geegie ® fue gu % = A gl 2

Distance between the molten tip of the electrode to surface of the molten weld pool is

(a) 3ATh g&en / arc efficiency (b) 3k dleed [ arc voltage

(c) 3 FE / arc current (d) 3% &arg / arc length

Afrs fRufy 1 frde e &1 IeaTed S HUY, TATE G 5 faft w seiere 1 wnfid
fepan ST =nfEw)

While producing fillet welds in the horizontal position, electrode shall be positioned about
degree to the vertical member

(a) 30 (b) 45 (c) 60 (dy 75

af2 w wryw F uig Ted §, @ 38 w0 o g

If a polygon has five sides, then it is called

(a) e /pentagon (b) WA /hexagon

(c) Hemm™ /pentagram (d) Wit 9g4+ / parallelogram

qia % fagur 1 STy eI J sl & ferg fipgt g 1 394 faRan s 2
Filler metal used for brazing copper alloy to stainless steel is

(a) BNi (b) BCu (c) BAu (d) BZn

l I |

AWS et % sram, fre § & @ @ a9 on dard 27
As per above AWS symbol, which of the following is a correct edge preparation?

(a) Y

(b I |

(©) \/ |

@ /\ |

@i T o dee AR 2 A # At 21

" Slag entrapment is a weld defect occurring in

(a) GTAW ufEn / GTAW process

(b) SAW ufssar / SAW process

(¢) EBW ufsan / EBW process

(d) wifea G'TAW ufsem [ pulsed GTAW process

13 707 TE(W)



70.

71.

T3

73.

74.

T

S 7 A Fra e ) Sie & AfeET FW § e Th Ao zr wifErd &9 @ defia wu
HTETTHA £ 7

Which of the following documents need to be essentially referred by a welder before welding a
joint?

(a) WPS (h) NDT @ /NDT report

(c) = fEé / Tensile report (d) @t wewo o / Material Certificate

@mﬁﬁﬁﬁn%mmﬁmﬁﬁm%%
Process in which heat as well as pressure is required for welding
(a) wieiig Atz afeen / resistance spot welding

(b) wfedia gim afeen / resistance seam welding

(c) wu afeen / friction welding

(d) 39l Tt / All of the above

ASME a7 3 game vl 3 IX Hi2 ¥ wafid 21
ASME boiler and pressure vessel section IX code deals with

(a) de=t i draar / qualification of welder

(b) afegn ufFan ®1 Fwaa / qualification of welding procedure

(c) (a)3fT (b) 2 / Both (a) and (b)

(d) degic =1 f4f&m / Inspection of weldments

Fewrr ofafda = 2

Rectifier converts

(@) DC#AC /DCtoAC

(b) F=a di@e AC to f dieds AC / High voltage AC to low voltage AC
(c) ACHDC /ACtoDC

(d) (a)3M(c)aH /Both (a) & (c)

SMAW e # s Wi 6 &

Power source used in SMAW process 18

(a) T dieres ¥R / constant voltage type
(b) faia fa WHW / constant speed type

(c) T4t um 9= / constant current type
(d) (a) 3 (c) i / both (a) and (¢)

2 - e T UE T 2l
2-series aluminium grade is a
(a) Al-Cufizrang / Al-Cu alloy (b) Al-Mg-Si fazrerg / Al-Mg-Si alloy

(c) Al-Zn-Mg famug / Al-Zn-Mg alloy (d) 3w #§ & =t 7E / none of the above

14 707 TE(W)



